

Voluntary Prekindergarten Program

Payment Rate Schedule

Fiscal Year: 2019-2020

Rate Effective Date: July 1, 2019 - June 30, 2020

County	2019-2020 Summer Provider Rates				2019-2020 School-Year Provider Rates			
	Base Student Allocation	Provider Payment	Hourly Rate	Base Student Allocation	Provider Payment	Hourly Rate		
	\$2,080	X DCD		\$2,437	X DCD			
	-1-	-2-	-3-	-4-	-5-	-6-	-7-	-8-
Alachua	\$2,080.00	0.9770	\$2,031.00	\$6.77	\$2,437.00	0.9770	\$2,381.40	\$4.41
Baker	\$2,080.00	0.9750	\$2,028.00	\$6.76	\$2,437.00	0.9750	\$2,376.00	\$4.40
Bay	\$2,080.00	0.9713	\$2,019.00	\$6.73	\$2,437.00	0.9713	\$2,365.20	\$4.38
Bradford	\$2,080.00	0.9703	\$2,019.00	\$6.73	\$2,437.00	0.9703	\$2,365.20	\$4.38
Brevard	\$2,080.00	0.9875	\$2,055.00	\$6.85	\$2,437.00	0.9875	\$2,408.40	\$4.46
Broward	\$2,080.00	1.0197	\$2,121.00	\$7.07	\$2,437.00	1.0197	\$2,484.00	\$4.60
Calhoun	\$2,080.00	0.9369	\$1,950.00	\$6.50	\$2,437.00	0.9369	\$2,284.20	\$4.23
Charlotte	\$2,080.00	0.9834	\$2,046.00	\$6.82	\$2,437.00	0.9834	\$2,397.60	\$4.44
Citrus	\$2,080.00	0.9490	\$1,974.00	\$6.58	\$2,437.00	0.9490	\$2,311.20	\$4.28
Clay	\$2,080.00	0.9911	\$2,061.00	\$6.87	\$2,437.00	0.9911	\$2,413.80	\$4.47
Collier	\$2,080.00	1.0453	\$2,175.00	\$7.25	\$2,437.00	1.0453	\$2,548.80	\$4.72
Columbia	\$2,080.00	0.9505	\$1,977.00	\$6.59	\$2,437.00	0.9505	\$2,316.60	\$4.29
Miami-Dade	\$2,080.00	1.0153	\$2,112.00	\$7.04	\$2,437.00	1.0153	\$2,473.20	\$4.58
DeSoto	\$2,080.00	0.9719	\$2,022.00	\$6.74	\$2,437.00	0.9719	\$2,370.60	\$4.39
Dixie	\$2,080.00	0.9355	\$1,947.00	\$6.49	\$2,437.00	0.9355	\$2,278.80	\$4.22
Duval	\$2,080.00	1.0098	\$2,100.00	\$7.00	\$2,437.00	1.0098	\$2,462.40	\$4.56
Escambia	\$2,080.00	0.9755	\$2,028.00	\$6.76	\$2,437.00	0.9755	\$2,376.00	\$4.40
Flagler	\$2,080.00	0.9554	\$1,986.00	\$6.62	\$2,437.00	0.9554	\$2,327.40	\$4.31
Franklin	\$2,080.00	0.9369	\$1,950.00	\$6.50	\$2,437.00	0.9369	\$2,284.20	\$4.23
Gadsden	\$2,080.00	0.9537	\$1,983.00	\$6.61	\$2,437.00	0.9537	\$2,322.00	\$4.30
Gilchrist	\$2,080.00	0.9516	\$1,980.00	\$6.60	\$2,437.00	0.9516	\$2,316.60	\$4.29
Glades	\$2,080.00	0.9823	\$2,043.00	\$6.81	\$2,437.00	0.9823	\$2,392.20	\$4.43
Gulf	\$2,080.00	0.9433	\$1,962.00	\$6.54	\$2,437.00	0.9433	\$2,300.40	\$4.26
Hamilton	\$2,080.00	0.9268	\$1,929.00	\$6.43	\$2,437.00	0.9268	\$2,257.20	\$4.18
Hardee	\$2,080.00	0.9607	\$1,998.00	\$6.66	\$2,437.00	0.9607	\$2,343.60	\$4.34
Hendry	\$2,080.00	0.9947	\$2,070.00	\$6.90	\$2,437.00	0.9947	\$2,424.60	\$4.49
Hernando	\$2,080.00	0.9688	\$2,016.00	\$6.72	\$2,437.00	0.9688	\$2,359.80	\$4.37
Highlands	\$2,080.00	0.9512	\$1,977.00	\$6.59	\$2,437.00	0.9512	\$2,316.60	\$4.29
Hillsborough	\$2,080.00	1.0058	\$2,091.00	\$6.97	\$2,437.00	1.0058	\$2,451.60	\$4.54
Holmes	\$2,080.00	0.9405	\$1,956.00	\$6.52	\$2,437.00	0.9405	\$2,289.60	\$4.24
Indian River	\$2,080.00	1.0022	\$2,085.00	\$6.95	\$2,437.00	1.0022	\$2,440.80	\$4.52
Jackson	\$2,080.00	0.9376	\$1,950.00	\$6.50	\$2,437.00	0.9376	\$2,284.20	\$4.23
Jefferson	\$2,080.00	0.9516	\$1,980.00	\$6.60	\$2,437.00	0.9516	\$2,316.60	\$4.29
Lafayette	\$2,080.00	0.9232	\$1,920.00	\$6.40	\$2,437.00	0.9232	\$2,251.80	\$4.17
Lake	\$2,080.00	0.9790	\$2,037.00	\$6.79	\$2,437.00	0.9790	\$2,386.80	\$4.42
Lee	\$2,080.00	1.0154	\$2,112.00	\$7.04	\$2,437.00	1.0154	\$2,473.20	\$4.58

County	2019-2020 Summer Provider Rates				2019-2020 School-Year Provider Rates			
	Base Student Allocation \$2,080	X DCD	Provider Payment	Hourly Rate	Base Student Allocation \$2,437	X DCD	Provider Payment	Hourly Rate
	-1-	-2-	-3-	-4-	-5-	-6-	-7-	-8-
Leon	\$2,080.00	0.9740	\$2,025.00	\$6.75	\$2,437.00	0.9740	\$2,376.00	\$4.40
Levy	\$2,080.00	0.9507	\$1,977.00	\$6.59	\$2,437.00	0.9507	\$2,316.60	\$4.29
Liberty	\$2,080.00	0.9347	\$1,944.00	\$6.48	\$2,437.00	0.9347	\$2,278.80	\$4.22
Madison	\$2,080.00	0.9297	\$1,935.00	\$6.45	\$2,437.00	0.9297	\$2,268.00	\$4.20
Manatee	\$2,080.00	0.9850	\$2,049.00	\$6.83	\$2,437.00	0.9850	\$2,403.00	\$4.45
Marion	\$2,080.00	0.9487	\$1,974.00	\$6.58	\$2,437.00	0.9487	\$2,311.20	\$4.28
Martin	\$2,080.00	1.0158	\$2,112.00	\$7.04	\$2,437.00	1.0158	\$2,473.20	\$4.58
Monroe	\$2,080.00	1.0405	\$2,163.00	\$7.21	\$2,437.00	1.0405	\$2,538.00	\$4.70
Nassau	\$2,080.00	0.9899	\$2,058.00	\$6.86	\$2,437.00	0.9899	\$2,413.80	\$4.47
Okaloosa	\$2,080.00	0.9927	\$2,064.00	\$6.88	\$2,437.00	0.9927	\$2,419.20	\$4.48
Okeechobee	\$2,080.00	0.9781	\$2,034.00	\$6.78	\$2,437.00	0.9781	\$2,381.40	\$4.41
Orange	\$2,080.00	1.0065	\$2,094.00	\$6.98	\$2,437.00	1.0065	\$2,451.60	\$4.54
Osceola	\$2,080.00	0.9878	\$2,055.00	\$6.85	\$2,437.00	0.9878	\$2,408.40	\$4.46
Palm Beach	\$2,080.00	1.0426	\$2,169.00	\$7.23	\$2,437.00	1.0426	\$2,543.40	\$4.71
Pasco	\$2,080.00	0.9844	\$2,049.00	\$6.83	\$2,437.00	0.9844	\$2,397.60	\$4.44
Pinellas	\$2,080.00	0.9994	\$2,079.00	\$6.93	\$2,437.00	0.9994	\$2,435.40	\$4.51
Polk	\$2,080.00	0.9700	\$2,019.00	\$6.73	\$2,437.00	0.9700	\$2,365.20	\$4.38
Putnam	\$2,080.00	0.9609	\$1,998.00	\$6.66	\$2,437.00	0.9609	\$2,343.60	\$4.34
St. Johns	\$2,080.00	1.0061	\$2,094.00	\$6.98	\$2,437.00	1.0061	\$2,451.60	\$4.54
St. Lucie	\$2,080.00	0.9999	\$2,079.00	\$6.93	\$2,437.00	0.9999	\$2,435.40	\$4.51
Santa Rosa	\$2,080.00	0.9751	\$2,028.00	\$6.76	\$2,437.00	0.9751	\$2,376.00	\$4.40
Sarasota	\$2,080.00	1.0040	\$2,088.00	\$6.96	\$2,437.00	1.0040	\$2,446.20	\$4.53
Seminole	\$2,080.00	0.9947	\$2,070.00	\$6.90	\$2,437.00	0.9947	\$2,424.60	\$4.49
Sumter	\$2,080.00	0.9669	\$2,010.00	\$6.70	\$2,437.00	0.9669	\$2,354.40	\$4.36
Suwannee	\$2,080.00	0.9374	\$1,950.00	\$6.50	\$2,437.00	0.9374	\$2,284.20	\$4.23
Taylor	\$2,080.00	0.9298	\$1,935.00	\$6.45	\$2,437.00	0.9298	\$2,268.00	\$4.20
Union	\$2,080.00	0.9614	\$2,001.00	\$6.67	\$2,437.00	0.9614	\$2,343.60	\$4.34
Volusia	\$2,080.00	0.9654	\$2,007.00	\$6.69	\$2,437.00	0.9654	\$2,354.40	\$4.36
Wakulla	\$2,080.00	0.9543	\$1,986.00	\$6.62	\$2,437.00	0.9543	\$2,327.40	\$4.31
Walton	\$2,080.00	0.9801	\$2,040.00	\$6.80	\$2,437.00	0.9801	\$2,386.80	\$4.42
Washington	\$2,080.00	0.9413	\$1,959.00	\$6.53	\$2,437.00	0.9413	\$2,295.00	\$4.25

*Changes reflect updated 2019-20 DCD table and the elimination of Penny Rounding when calculating

Voluntary Prekindergarten Program Payment Rate Schedule Fiscal Year: 2019-2020 Rate Effective Date: July 1, 2019 - June 30, 2020												Voluntary Prekindergarten Program Payment Rate Schedule Fiscal Year: 2018-2019 Rate Effective Date: July 1, 2018 - June 30, 2019											
County	2019-2020 Summer Provider Rates				2019-2020 School-Year Provider Rates				Summer Hourly Rate Change	School-Year Hourly Rate Change	County	2018-2019 Summer Provider Rates				2018-2019 School-Year Provider Rates							
	Base Student Allocation \$2,080	X DCD	Provider Payment	Hourly Rate	Base Student Allocation \$2,437	X DCD	Provider Payment	Hourly Rate				Base Student Allocation \$2,080	X DCD	Provider Payment	Hourly Rate	Base Student Allocation \$2,437	X DCD	Provider Payment	Hourly Rate				
-1-	-2-	-3-	-4-	-5-	-6-	-7-	-8-				-1-	-2-	-3-	-4-	-5-	-6-	-7-	-8-					
Alachua	\$2,080.00	0.9770	\$2,031.00	\$6.77	\$2,437.00	0.9770	\$2,381.40	\$4.41	\$0.03	\$0.02	Alachua	\$2,080.00	0.9726	\$2,022.00	\$6.74	\$2,437.00	0.9726	\$2,370.60	\$4.39				
Baker	\$2,080.00	0.9750	\$2,028.00	\$6.76	\$2,437.00	0.9750	\$2,376.00	\$4.40	\$0.00	\$0.00	Baker	\$2,080.00	0.9754	\$2,028.00	\$6.76	\$2,437.00	0.9754	\$2,376.00	\$4.40				
Bay	\$2,080.00	0.9713	\$2,019.00	\$6.73	\$2,437.00	0.9713	\$2,365.20	\$4.38	\$0.02	\$0.01	Bay	\$2,080.00	0.9673	\$2,013.00	\$6.71	\$2,437.00	0.9673	\$2,359.80	\$4.37				
Bradford	\$2,080.00	0.9703	\$2,019.00	\$6.73	\$2,437.00	0.9703	\$2,365.20	\$4.38	\$0.00	\$0.00	Bradford	\$2,080.00	0.9709	\$2,019.00	\$6.73	\$2,437.00	0.9709	\$2,365.20	\$4.38				
Brevard	\$2,080.00	0.9875	\$2,055.00	\$6.85	\$2,437.00	0.9875	\$2,408.40	\$4.46	\$0.00	\$0.00	Brevard	\$2,080.00	0.9875	\$2,055.00	\$6.85	\$2,437.00	0.9875	\$2,408.40	\$4.46				
Broward	\$2,080.00	1.0197	\$2,121.00	\$7.07	\$2,437.00	1.0197	\$2,484.00	\$4.60	-\$0.02	-\$0.01	Broward	\$2,080.00	1.0219	\$2,127.00	\$7.09	\$2,437.00	1.0219	\$2,489.40	\$4.61				
Calhoun	\$2,080.00	0.9369	\$1,950.00	\$6.50	\$2,437.00	0.9369	\$2,284.20	\$4.23	\$0.03	\$0.02	Calhoun	\$2,080.00	0.9335	\$1,941.00	\$6.47	\$2,437.00	0.9335	\$2,273.40	\$4.21				
Charlotte	\$2,080.00	0.9834	\$2,046.00	\$6.82	\$2,437.00	0.9834	\$2,397.60	\$4.44	\$0.01	\$0.01	Charlotte	\$2,080.00	0.9822	\$2,043.00	\$6.81	\$2,437.00	0.9822	\$2,392.20	\$4.43				
Citrus	\$2,080.00	0.9490	\$1,974.00	\$6.58	\$2,437.00	0.9490	\$2,311.20	\$4.28	\$0.00	\$0.00	Citrus	\$2,080.00	0.9491	\$1,974.00	\$6.88	\$2,437.00	0.9491	\$2,419.20	\$4.48				
Clay	\$2,080.00	0.9911	\$2,061.00	\$6.87	\$2,437.00	0.9911	\$2,413.80	\$4.47	-\$0.01	-\$0.01	Clay	\$2,080.00	0.9918	\$2,064.00	\$6.88	\$2,437.00	0.9918	\$2,422.00	\$4.49				
Collier	\$2,080.00	1.0453	\$2,175.00	\$7.25	\$2,437.00	1.0453	\$2,548.80	\$4.72	\$0.04	\$0.02	Collier	\$2,080.00	1.0405	\$2,163.60	\$6.71	\$2,437.00	1.0405	\$2,538.60	\$4.70				
Columbia	\$2,080.00	0.9505	\$1,977.00	\$6.59	\$2,437.00	0.9505	\$2,316.60	\$4.29	\$0.01	\$0.00	Columbia	\$2,080.00	0.9495	\$1,974.00	\$6.58	\$2,437.00	0.9495	\$2,316.60	\$4.29				
Miami-Dade	\$2,080.00	1.0153	\$2,112.00	\$7.04	\$2,437.00	1.0153	\$2,473.20	\$4.58	-\$0.02	-\$0.01	Miami-Dade	\$2,080.00	1.0180	\$2,118.00	\$7.06	\$2,437.00	1.0180	\$2,478.60	\$4.59				
DeSoto	\$2,080.00	0.9719	\$2,022.00	\$6.74	\$2,437.00	0.9719	\$2,370.60	\$4.39	\$0.00	\$0.00	DeSoto	\$2,080.00	0.9720	\$2,022.00	\$6.74	\$2,437.00	0.9720	\$2,370.60	\$4.39				
Dixie	\$2,080.00	0.9355	\$1,947.00	\$6.49	\$2,437.00	0.9355	\$2,278.80	\$4.22	\$0.04	\$0.02	Dixie	\$2,080.00	0.9302	\$1,935.00	\$6.45	\$2,437.00	0.9302	\$2,268.00	\$4.20				
Duval	\$2,080.00	1.0098	\$2,100.00	\$7.00	\$2,437.00	1.0098	\$2,462.40	\$4.56	-\$0.01	-\$0.01	Duval	\$2,080.00	1.0106	\$2,103.00	\$7.01	\$2,437.00	1.0106	\$2,462.40	\$4.56				
Escambia	\$2,080.00	0.9755	\$2,028.00	\$6.76	\$2,437.00	0.9755	\$2,376.00	\$4.40	\$0.01	\$0.01	Escambia	\$2,080.00	0.9729	\$2,025.00	\$6.75	\$2,437.00	0.9729	\$2,370.60	\$4.39				
Flagler	\$2,080.00	0.9554	\$1,986.00	\$6.62	\$2,437.00	0.9554	\$2,327.40	\$4.31	\$0.01	\$0.01	Flagler	\$2,080.00	0.9537	\$1,983.00	\$6.61	\$2,437.00	0.9537	\$2,322.00	\$4.30				
Franklin	\$2,080.00	0.9369	\$1,950.00	\$6.50	\$2,437.00	0.9369	\$2,284.20	\$4.23	\$0.06	\$0.04	Franklin	\$2,080.00	0.9325	\$1,950.00	\$6.44	\$2,437.00	0.9325	\$2,262.60	\$4.19				
Gadsden	\$2,080.00	0.9537	\$1,983.00	\$6.61	\$2,437.00	0.9537	\$2,322.00	\$4.30	\$0.02	\$0.01	Gadsden	\$2,080.00	0.9511	\$1,977.00	\$6.59	\$2,437.00	0.9511	\$2,316.60	\$4.29				
Gilchrist	\$2,080.00	0.9516	\$1,980.00	\$6.60	\$2,437.00	0.9516	\$2,316.60	\$4.29	\$0.03	\$0.02	Gilchrist	\$2,080.00	0.9470	\$1,971.00	\$6.57	\$2,437.00	0.9470	\$2,305.80	\$4.27				
Glades	\$2,080.00	0.9823	\$2,043.00	\$6.81	\$2,437.00	0.9823	\$2,392.20	\$4.43	\$0.04	\$0.02	Glades	\$2,080.00	0.9770	\$2,031.00	\$6.77	\$2,437.00	0.9770	\$2,381.40	\$4.41				
Gulf	\$2,080.00	0.9433	\$1,962.00	\$6.54	\$2,437.00	0.9433	\$2,300.40	\$4.26	\$0.03	\$0.02	Gulf	\$2,080.00	0.9391	\$1,953.00	\$6.51	\$2,437.00	0.9391	\$2,289.60	\$4.24				
Hamilton	\$2,080.00	0.9268	\$1,929.00	\$6.43	\$2,437.00	0.9268	\$2,257.20	\$4.18	-\$0.01	-\$0.01	Hamilton	\$2,080.00	0.9282	\$1,932.00	\$6.44	\$2,437.00	0.9282	\$2,262.60	\$4.19				
Hardee	\$2,080.00	0.9607	\$1,998.00	\$6.66	\$2,437.00	0.9607	\$2,343.60	\$4.34	-\$0.01	-\$0.01	Hardee	\$2,080.00	0.9621	\$2,001.00	\$6.67	\$2,437.00	0.9621	\$2,343.60	\$4.34				
Hendry	\$2,080.00	0.9947	\$2,070.00	\$6.90	\$2,437.00	0.9947	\$2,424.60	\$4.49	\$0.04	\$0.02	Hendry	\$2,080.00	0.9895	\$2,058.00	\$6.86	\$2,437.00	0.9895	\$2,413.80	\$4.47				
Hernando	\$2,080.00	0.9688	\$2,016.00	\$6.72	\$2,437.00	0.9688	\$2,359.80	\$4.37	\$0.01	-\$0.01	Hernando	\$2,080.00	0.9704	\$2,019.00	\$6.73	\$2,437.00	0.9704	\$2,365.20	\$4.38				
Highlands	\$2,080.00	0.9512	\$1,977.00	\$6.59	\$2,437.00	0.9512	\$2,316.60	\$4.29	\$0.02	\$0.01	Highlands	\$2,080.00	0.9483	\$1,971.00	\$6.57	\$2,437.00	0.9483	\$2,311.20	\$4.28				
Hillsborough	\$2,080.00	1.0058	\$2,091.00	\$6.97	\$2,437.00	1.0058	\$2,451.60	\$4.54	-\$0.01	-\$0.01	Hillsborough	\$2,080.00	1.0074	\$2,094.00	\$6.98	\$2,437.00	1.0074	\$2,457.00	\$4.55				
Holmes	\$2,080.00	0.9405	\$1,956.00	\$6.52	\$2,437.00	0.9405	\$2,289.60	\$4.24	\$0.02	\$0.01	Holmes	\$2,080.00	0.9374	\$1,950.00	\$6.50	\$2,437.00	0.9374	\$2,284.20	\$4.23				
Indian River	\$2,080.00	1.0022	\$2,085.00	\$6.95	\$2,437.00	1.0022	\$2,440.80	\$4.52	\$0.02	\$0.01	Indian River	\$2,080.00	1.0001	\$2,079.00	\$6.93	\$2,437.00	1.0001	\$2,435.40	\$4.51				
Jackson	\$2,080.00	0.9376	\$1,950.00	\$6.50	\$2,437.00	0.9376	\$2,284.20	\$4.23	\$0.03	\$0.02	Jackson	\$2,080.00	0.9325	\$1,941.00	\$6.47	\$2,437.00	0.9325	\$2,274.40	\$4.21				
Jefferson	\$2,080.00	0.9516	\$1,980.00	\$6.60	\$2,437.00	0.9516	\$2,316.60	\$4.29	\$0.02	\$0.01	Jefferson	\$2,080.00	0.9491	\$1,974.00	\$6.58	\$2,437.00	0.9491	\$2,311.20	\$4.28				
Lafayette	\$2,080.00	0.9232	\$1,920.00	\$6.40	\$2,437.00	0.9232	\$2,251.80	\$4.17	\$0.03	\$0.02	Lafayette	\$2,080.00	0.9190	\$1,911.00	\$6.37	\$2,437.00	0.9190	\$2,241.00	\$4.15				
Lake	\$2,080.00	0.9790	\$2,037.00	\$6.79	\$2,437.00	0.9790	\$2,386.80	\$4.42	\$0.01	\$0.01	Lake	\$2,080.00	0.9776	\$2,034.00	\$6.78	\$2,437.00	0.9776	\$2,381.40	\$4.41				
Lee	\$2,080.00	1.0154	\$2,112.00	\$7.04	\$2,437.00	1.0154	\$2,473.20	\$4.58	\$0.03	\$0.02	Lee	\$2,080.00	1.0105	\$2,103.00	\$7.01	\$2,437.00	1.0105	\$2,462.40	\$4.56				
Leon	\$2,080.00	0.9740	\$2,025.00	\$6.75	\$2,437.00	0.9740	\$2,376.00	\$4.40	\$0.01	\$0.01	Leon	\$2,080.00	0.9714	\$2,022.00	\$6.74	\$2,437.00	0.9714	\$2,365.20	\$4.38				
Levy	\$2,080.00	0.9507	\$1,977.00	\$6.59	\$2,437.00	0.9507	\$2,316.60	\$4.29	\$0.03	\$0.02	Levy	\$2,080.00	0.9458	\$1,968.00	\$6.56	\$2,437.00	0.9458	\$2,305.80	\$4.27				
Liberty	\$2,080.00	0.9347	\$1,944.00	\$6.48	\$2,437.00	0.9347	\$2,278.80	\$4.22	\$0.02	\$0.02	Liberty	\$2,080.00	0.9311	\$1,938.00	\$6.46	\$2,437.00	0.9311	\$2,268.00	\$4.20				
Madison	\$2,080.00	0.9297	\$2,015.00	\$6.45	\$2,437.00	0.9297	\$2,268.00	\$4.20	\$0.03	\$0.02	Madison	\$2,080.00	0.9255	\$2,016.00									

2019-20 FEEP
Florida Price Level Index (FPLI) and District Cost Differential (DCD)

District	80% Three Year Three Year							District Cost Differential
	2016 FPLI	2017 FPLI	2018 FPLI	Average FPLI	Average FPLI	Add 20		
	-1-	-2-	-3-	-4-	-5-	-6-	-7-	
1 Alachua	96.43	97.45	97.51	97.13	77.70	97.70	0.9770	
2 Baker	96.94	96.79	96.91	96.88	77.50	97.50	0.9750	
3 Bay	95.93	96.77	96.53	96.41	77.13	97.13	0.9713	
4 Bradford	96.37	96.22	96.28	96.29	77.03	97.03	0.9703	
5 Brevard	98.29	98.43	98.59	98.44	78.75	98.75	0.9875	
6 Broward	102.71	102.27	102.41	102.46	81.97	101.97	1.0197	
7 Calhoun	91.71	92.51	92.10	92.11	73.69	93.69	0.9369	
8 Charlotte	97.00	98.23	98.53	97.92	78.34	98.34	0.9834	
9 Citrus	93.45	93.77	93.67	93.63	74.90	94.90	0.9490	
10 Clay	98.98	98.83	98.84	98.88	79.11	99.11	0.9911	
11 Collier	104.69	106.01	106.27	105.66	84.53	104.53	1.0453	
12 Columbia	93.35	94.26	93.82	93.81	75.05	95.05	0.9505	
13 Miami-Dade	102.33	101.79	101.63	101.92	81.53	101.53	1.0153	
14 DeSoto	95.71	96.68	97.08	96.49	77.19	97.19	0.9719	
15 Dixie	91.14	92.10	92.59	91.94	73.55	93.55	0.9355	
16 Duval	101.34	101.18	101.16	101.23	80.98	100.98	1.0098	
17 Escambia	96.60	97.29	96.92	96.94	77.55	97.55	0.9755	
18 Flagler	93.92	94.67	94.69	94.43	75.54	95.54	0.9554	
19 Franklin	91.13	93.11	92.09	92.11	73.69	93.69	0.9369	
20 Gadsden	93.76	94.60	94.28	94.21	75.37	95.37	0.9537	
21 Gilchrist	93.24	94.22	94.40	93.95	75.16	95.16	0.9516	
22 Glades	96.87	97.87	98.61	97.78	78.23	98.23	0.9823	
23 Gulf	92.41	93.22	93.11	92.91	74.33	94.33	0.9433	
24 Hamilton	91.03	90.89	90.64	90.85	72.68	92.68	0.9268	
25 Hardee	95.12	94.76	95.37	95.08	76.07	96.07	0.9607	
26 Hendry	98.34	99.58	100.09	99.34	79.47	99.47	0.9947	
27 Hernando	96.51	96.05	95.74	96.10	76.88	96.88	0.9688	
28 Highlands	93.01	94.18	94.50	93.90	75.12	95.12	0.9512	
29 Hillsborough	101.14	100.66	100.38	100.73	80.58	100.58	1.0058	
30 Holmes	92.16	92.78	92.74	92.56	74.05	94.05	0.9405	
31 Indian River	100.54	100.18	100.11	100.28	80.22	100.22	1.0022	
32 Jackson	91.30	93.06	92.24	92.20	73.76	93.76	0.9376	
33 Jefferson	93.51	94.35	94.00	93.95	75.16	95.16	0.9516	
34 Lafayette	89.73	90.67	90.80	90.40	72.32	92.32	0.9232	
35 Lake	97.23	97.38	97.52	97.38	77.90	97.90	0.9790	
36 Lee	100.95	102.23	102.59	101.92	81.54	101.54	1.0154	
37 Leon	96.30	97.16	96.78	96.75	77.40	97.40	0.9740	
38 Levy	93.09	94.07	94.34	93.83	75.07	95.07	0.9507	
39 Liberty	91.27	92.08	92.17	91.84	73.47	93.47	0.9347	
40 Madison	90.33	91.86	91.44	91.21	72.97	92.97	0.9297	
41 Manatee	97.85	98.07	98.45	98.12	78.50	98.50	0.9850	
42 Marion	93.29	93.88	93.59	93.59	74.87	94.87	0.9487	
43 Martin	101.89	101.83	102.20	101.97	81.58	101.58	1.0158	
44 Monroe	103.33	105.47	106.39	105.06	84.05	104.05	1.0405	
45 Nassau	98.58	98.76	98.88	98.74	78.99	98.99	0.9899	

46	Okaloosa	98.69	99.34	99.25	99.09	79.27	99.27	0.9927
47	Okeechobee	97.29	96.98	97.53	97.27	77.81	97.81	0.9781
48	Orange	100.71	100.87	100.85	100.81	80.65	100.65	1.0065
49	Osceola	98.38	98.53	98.53	98.48	78.78	98.78	0.9878
50	Palm Beach	105.67	105.04	105.26	105.32	84.26	104.26	1.0426
51	Pasco	98.43	97.96	97.76	98.05	78.44	98.44	0.9844
52	Pinellas	100.33	99.82	99.61	99.92	79.94	99.94	0.9994
53	Polk	96.50	96.20	96.05	96.25	77.00	97.00	0.9700
54	Putnam	95.21	95.06	95.07	95.11	76.09	96.09	0.9609
55	St. Johns	100.29	101.02	100.98	100.76	80.61	100.61	1.0061
56	St. Lucie	99.86	99.81	100.29	99.99	79.99	99.99	0.9999
57	Santa Rosa	96.79	96.95	96.92	96.89	77.51	97.51	0.9751
58	Sarasota	100.16	100.39	100.94	100.50	80.40	100.40	1.0040
59	Seminole	99.28	99.44	99.30	99.34	79.47	99.47	0.9947
60	Sumter	95.07	96.03	96.49	95.86	76.69	96.69	0.9669
61	Suwannee	91.41	92.70	92.40	92.17	73.74	93.74	0.9374
62	Taylor	90.42	92.08	91.18	91.23	72.98	92.98	0.9298
63	Union	95.30	95.15	95.06	95.17	76.14	96.14	0.9614
64	Volusia	95.57	95.72	95.73	95.67	76.54	96.54	0.9654
65	Wakulla	93.82	94.66	94.39	94.29	75.43	95.43	0.9543

Voluntary Prekindergarten Program

Payment Rate Schedule

Fiscal Year: 2019-2020

Rate Effective Date: July 1, 2019 - June 30, 2020

County	2019-2020 Summer Provider Rates				2019-2020 School-Year Provider Rates			
	Base Student Allocation \$2,080	X DCD	Provider Payment	Hourly Rate	Base Student Allocation \$2,437	X DCD	Provider Payment	Hourly Rate
	-1-	-2-	-3-	-4-	-5-	-6-	-7-	-8-
Alachua	\$2,080.00	0.9770	\$2,031.00	\$6.7700	\$2,437.00	0.9770	\$2,381.40	\$4.4100
Baker	\$2,080.00	0.9750	\$2,028.00	\$6.7600	\$2,437.00	0.9750	\$2,376.00	\$4.4000
Bay	\$2,080.00	0.9713	\$2,019.00	\$6.7300	\$2,437.00	0.9713	\$2,365.20	\$4.3800
Bradford	\$2,080.00	0.9703	\$2,019.00	\$6.7300	\$2,437.00	0.9703	\$2,365.20	\$4.3800
Brevard	\$2,080.00	0.9875	\$2,055.00	\$6.8500	\$2,437.00	0.9875	\$2,408.40	\$4.4600
Broward	\$2,080.00	1.0197	\$2,121.00	\$7.0700	\$2,437.00	1.0197	\$2,484.00	\$4.6000
Calhoun	\$2,080.00	0.9369	\$1,950.00	\$6.5000	\$2,437.00	0.9369	\$2,284.20	\$4.2300
Charlotte	\$2,080.00	0.9834	\$2,046.00	\$6.8200	\$2,437.00	0.9834	\$2,397.60	\$4.4400
Citrus	\$2,080.00	0.9490	\$1,974.00	\$6.5800	\$2,437.00	0.9490	\$2,311.20	\$4.2800
Clay	\$2,080.00	0.9911	\$2,061.00	\$6.8700	\$2,437.00	0.9911	\$2,413.80	\$4.4700
Collier	\$2,080.00	1.0453	\$2,175.00	\$7.2500	\$2,437.00	1.0453	\$2,548.80	\$4.7200
Columbia	\$2,080.00	0.9505	\$1,977.00	\$6.5900	\$2,437.00	0.9505	\$2,316.60	\$4.2900
Miami-Dade	\$2,080.00	1.0153	\$2,112.00	\$7.0400	\$2,437.00	1.0153	\$2,473.20	\$4.5800
DeSoto	\$2,080.00	0.9719	\$2,022.00	\$6.7400	\$2,437.00	0.9719	\$2,370.60	\$4.3900
Dixie	\$2,080.00	0.9355	\$1,947.00	\$6.4900	\$2,437.00	0.9355	\$2,278.80	\$4.2200
Duval	\$2,080.00	1.0098	\$2,100.00	\$7.0000	\$2,437.00	1.0098	\$2,462.40	\$4.5600
Escambia	\$2,080.00	0.9755	\$2,028.00	\$6.7600	\$2,437.00	0.9755	\$2,376.00	\$4.4000
Flagler	\$2,080.00	0.9554	\$1,986.00	\$6.6200	\$2,437.00	0.9554	\$2,327.40	\$4.3100
Franklin	\$2,080.00	0.9369	\$1,950.00	\$6.5000	\$2,437.00	0.9369	\$2,284.20	\$4.2300
Gadsden	\$2,080.00	0.9537	\$1,983.00	\$6.6100	\$2,437.00	0.9537	\$2,322.00	\$4.3000
Gilchrist	\$2,080.00	0.9516	\$1,980.00	\$6.6000	\$2,437.00	0.9516	\$2,316.60	\$4.2900
Glades	\$2,080.00	0.9823	\$2,043.00	\$6.8100	\$2,437.00	0.9823	\$2,392.20	\$4.4300
Gulf	\$2,080.00	0.9433	\$1,962.00	\$6.5400	\$2,437.00	0.9433	\$2,300.40	\$4.2600
Hamilton	\$2,080.00	0.9268	\$1,929.00	\$6.4300	\$2,437.00	0.9268	\$2,257.20	\$4.1800
Hardee	\$2,080.00	0.9607	\$1,998.00	\$6.6600	\$2,437.00	0.9607	\$2,343.60	\$4.3400
Hendry	\$2,080.00	0.9947	\$2,070.00	\$6.9000	\$2,437.00	0.9947	\$2,424.60	\$4.4900
Hernando	\$2,080.00	0.9688	\$2,016.00	\$6.7200	\$2,437.00	0.9688	\$2,359.80	\$4.3700
Highlands	\$2,080.00	0.9512	\$1,977.00	\$6.5900	\$2,437.00	0.9512	\$2,316.60	\$4.2900
Hillsborough	\$2,080.00	1.0058	\$2,091.00	\$6.9700	\$2,437.00	1.0058	\$2,451.60	\$4.5400
Holmes	\$2,080.00	0.9405	\$1,956.00	\$6.5200	\$2,437.00	0.9405	\$2,289.60	\$4.2400
Indian River	\$2,080.00	1.0022	\$2,085.00	\$6.9500	\$2,437.00	1.0022	\$2,440.80	\$4.5200
Jackson	\$2,080.00	0.9376	\$1,950.00	\$6.5000	\$2,437.00	0.9376	\$2,284.20	\$4.2300
Jefferson	\$2,080.00	0.9516	\$1,980.00	\$6.6000	\$2,437.00	0.9516	\$2,316.60	\$4.2900
Lafayette	\$2,080.00	0.9232	\$1,920.00	\$6.4000	\$2,437.00	0.9232	\$2,251.80	\$4.1700
Lake	\$2,080.00	0.9790	\$2,037.00	\$6.7900	\$2,437.00	0.9790	\$2,386.80	\$4.4200
Lee	\$2,080.00	1.0154	\$2,112.00	\$7.0400	\$2,437.00	1.0154	\$2,473.20	\$4.5800

County	2019-2020 Summer Provider Rates				2019-2020 School-Year Provider Rates			
	Base Student Allocation \$2,080	X DCD	Provider Payment	Hourly Rate	Base Student Allocation \$2,437	X DCD	Provider Payment	Hourly Rate
	-1-	-2-	-3-	-4-	-5-	-6-	-7-	-8-
Leon	\$2,080.00	0.9740	\$2,025.00	\$6.7500	\$2,437.00	0.9740	\$2,376.00	\$4.4000
Levy	\$2,080.00	0.9507	\$1,977.00	\$6.5900	\$2,437.00	0.9507	\$2,316.60	\$4.2900
Liberty	\$2,080.00	0.9347	\$1,944.00	\$6.4800	\$2,437.00	0.9347	\$2,278.80	\$4.2200
Madison	\$2,080.00	0.9297	\$1,935.00	\$6.4500	\$2,437.00	0.9297	\$2,268.00	\$4.2000
Manatee	\$2,080.00	0.9850	\$2,049.00	\$6.8300	\$2,437.00	0.9850	\$2,403.00	\$4.4500
Marion	\$2,080.00	0.9487	\$1,974.00	\$6.5800	\$2,437.00	0.9487	\$2,311.20	\$4.2800
Martin	\$2,080.00	1.0158	\$2,112.00	\$7.0400	\$2,437.00	1.0158	\$2,473.20	\$4.5800
Monroe	\$2,080.00	1.0405	\$2,163.00	\$7.2100	\$2,437.00	1.0405	\$2,538.00	\$4.7000
Nassau	\$2,080.00	0.9899	\$2,058.00	\$6.8600	\$2,437.00	0.9899	\$2,413.80	\$4.4700
Okaloosa	\$2,080.00	0.9927	\$2,064.00	\$6.8800	\$2,437.00	0.9927	\$2,419.20	\$4.4800
Okeechobee	\$2,080.00	0.9781	\$2,034.00	\$6.7800	\$2,437.00	0.9781	\$2,381.40	\$4.4100
Orange	\$2,080.00	1.0065	\$2,094.00	\$6.9800	\$2,437.00	1.0065	\$2,451.60	\$4.5400
Osceola	\$2,080.00	0.9878	\$2,055.00	\$6.8500	\$2,437.00	0.9878	\$2,408.40	\$4.4600
Palm Beach	\$2,080.00	1.0426	\$2,169.00	\$7.2300	\$2,437.00	1.0426	\$2,543.40	\$4.7100
Pasco	\$2,080.00	0.9844	\$2,049.00	\$6.8300	\$2,437.00	0.9844	\$2,397.60	\$4.4400
Pinellas	\$2,080.00	0.9994	\$2,079.00	\$6.9300	\$2,437.00	0.9994	\$2,435.40	\$4.5100
Polk	\$2,080.00	0.9700	\$2,019.00	\$6.7300	\$2,437.00	0.9700	\$2,365.20	\$4.3800
Putnam	\$2,080.00	0.9609	\$1,998.00	\$6.6600	\$2,437.00	0.9609	\$2,343.60	\$4.3400
St. Johns	\$2,080.00	1.0061	\$2,094.00	\$6.9800	\$2,437.00	1.0061	\$2,451.60	\$4.5400
St. Lucie	\$2,080.00	0.9999	\$2,079.00	\$6.9300	\$2,437.00	0.9999	\$2,435.40	\$4.5100
Santa Rosa	\$2,080.00	0.9751	\$2,028.00	\$6.7600	\$2,437.00	0.9751	\$2,376.00	\$4.4000
Sarasota	\$2,080.00	1.0040	\$2,088.00	\$6.9600	\$2,437.00	1.0040	\$2,446.20	\$4.5300
Seminole	\$2,080.00	0.9947	\$2,070.00	\$6.9000	\$2,437.00	0.9947	\$2,424.60	\$4.4900
Sumter	\$2,080.00	0.9669	\$2,010.00	\$6.7000	\$2,437.00	0.9669	\$2,354.40	\$4.3600
Suwannee	\$2,080.00	0.9374	\$1,950.00	\$6.5000	\$2,437.00	0.9374	\$2,284.20	\$4.2300
Taylor	\$2,080.00	0.9298	\$1,935.00	\$6.4500	\$2,437.00	0.9298	\$2,268.00	\$4.2000
Union	\$2,080.00	0.9614	\$2,001.00	\$6.6700	\$2,437.00	0.9614	\$2,343.60	\$4.3400
Volusia	\$2,080.00	0.9654	\$2,007.00	\$6.6900	\$2,437.00	0.9654	\$2,354.40	\$4.3600
Wakulla	\$2,080.00	0.9543	\$1,986.00	\$6.6200	\$2,437.00	0.9543	\$2,327.40	\$4.3100
Walton	\$2,080.00	0.9801	\$2,040.00	\$6.8000	\$2,437.00	0.9801	\$2,386.80	\$4.4200
Washington	\$2,080.00	0.9413	\$1,959.00	\$6.5300	\$2,437.00	0.9413	\$2,295.00	\$4.2500

*Changes reflect updated 2019-20 DCD table and the elimination of Penny Rounding when calculating